EfRxER

SM6F1A1H~mM6%F 12831 H

—fgHtEEAN BEARIV X b2 —HEREHR

£1=] =8

| EEDED

LRBEE
LRfES 22,393,621
e 6,729,193
BT SR 1,504,585
MBBEESE 30,627,399

2.EEEE

EEEEAET 0

BEAET 30,627,399
| BEDER
LRea&

Eite 1,636,943
FihE 1,069,774
KIEANTLE 70,000
KIVHERSE 410,100
Y& 76,894

nEaEaE 3,263,711
2EEEE

EE&E&East 0
aEaE 3,263,711

1 TEBR BA 72 D BF

1I8EERREE

(D BERME~DFLER)

(O LEEME~DTEYEE)

EEERRBEAET
2. — AR IELRBAE 27,363,688

(D BERME~DFLER)

(O LEBEEME~DTYEE)

— M ERRE AT 27,363,688

IR E SR 27,363,688
BEROEKMESS 30,627,399

(7 M)



IERRBAEEIRRET RS

SM6F1A1H~mM6%F 12831 H
—fgHtEEAN BEARIV XTI b2 —HEREHR

(Efr: [)
HAZRZR = &= FEUNZS 3=
| . —fis IE R BA S ¥R 9D &8
1 ZREIH IR BB
R E UN 25
S HN =R 1,596,664 (0] 1,596,664
A= 10,000 (0] 10,000
EERFE _E 28,416,516 (0] 28,416,516
=555 9,216,800 9,216,800 0
FHE - & = > —3585_F 201,000 (0] 201,000
FRESE E 1,520,000 (0] 1,520,000
EE NS & ET 40,960,980 9,216,800 31,744,180
sl ==X iif]
JER i EfEKst 601,879 (0] 601,879
JHE fh : CHFESE 28,400 28,400 (0]
JRA i EE 514,520 286,220 228,300
JE=Aih - ANEEE 17,912,581 (0] 17,912,581
J2fm - T F X b+ 3,560,818 3,560,818 0
e _E/F & ET 22,618,198 3,875,438 18,742,760
R e EH
HNoEE 9,945,091 7,458,818 2,486,273
s E 422,198 95,001 327,197
) — = 12,000 2,700 9,300
CHFEmE 156,338 35,178 121,160
FR AT N ER 4,822 1,085 3,737
BT 27,807 6,257 21,550
= FLFEL 2,086,839 469,568 1,617,271
=REERASET 12,655,095 8,068,607 4,586,488
HHARR HE B EEE 5,687,687 N\ 2,727,245 8,414,932
2 FREANTEIF O BB
R AU S 2,007 (0] 2,007
R E NN EEEET 2,007 0 2,007
#R = B FH 0 0 0
REANERASET 0 (0] 0
L HARR = SN IE IR 2,007 0 2,007
ftb=EHiIREEE
5| BT 24 HE — A% 1E Bk BA EE 18 75 5,689,694 I\ 2,727,245 8,416,939
B AT EE 70,000 70,000 (0]
= HA — A% IE BR B EE PR R EE 5,619,694 N\ 2,797,245 8,416,939
— AR IERBEAZEEHR E IR = 21,743,994 /A 15,883,307 37,627,301
— A IERRBAZEHA R 7R = 27,363,688 /\ 18,680,552 46,044,240
Il .$5 & 1E Bk BA EE 3R] B 0D B
= HA$E E 1E R BA EE IR R R
FEEIERMERE XS
FeEIEBRBAEHAGR IR =
1. IERRBA EEHA R 7R = 27,363,688 /\ 18,680,552 46,044,240




